













































































12.

13.

14.

15.

16.

17.

18.

19.

I North poles 1

i Intersection of field lines implies that the compass needle would point towards two

directions at that point, which is not possible. 1
E =P xtxno. of days VZ:
= 2kw x 2h x 30 V2
=120 kwh
E =120 units Va
-.Cost=Rs. 4.00x 120 Y2
=Rs. 480.00
I Green to white, then brown Ve, Vo
. Water VZ:
Ii. As of burning suphur Ve
V. Ferric oxide, sulphur dioxide, sulphur trioxide VZ:
V. Décomposition réaction V2,
Baking soda/NaHCO, V2
Tartaric acid (a mild edible acid) V2

Baking soda releases CO, on heating and causes the cake to rise/ make it soft and
spongy. 1
Tartaric acid neutralizes the effect of (bitter taste) of the sodium salt of the acid formed. 1

The bulb could glow when an aqueous solution of HCIl was taken because HCI (aq) provided
hydrogen and chloride (H* and CI) ions which are carriers of electric charges in a solution,
while glucose (being a cavalent compound) did not furnish any ions in the solution. 1

I NaOH : The bulb will glow 1
il. NaCl : The bulb will glow 1
Because both of them being ionic compounds furnish ions in aqueous solutions.

Auxins, when the growing shoot of a plant detects light, auxin is synthesised at the shoot
tip and diffuses towards the shady side of the shoot. This stimulates cells to grow longer

on the shadier side causing the plant to bend. Y2+ 272
Stimulus received by Sensory Spinal cord

—_— —
by the receptor cells neuron (relay neuron)

Effector (muscle) <¢—  Motorneuron 5x%.=2%
Reflex action. VZi

Can be set up in remote areas where power transmission line is not commercially viable,
have no moving parts / need no maintenance, need no focusing device, pollution free.
(any 3) 3
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20. L

21. L

22. L
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placement of ammeter and volt meter VZ:
direction of current VZ:
placement of 4 cells in series Ve
closed key VZ:
Vo

Current flowing through a conductor is directly proportional to the potential difference
across it, if other physical conditions are constant. 1

Electrical resistivity of a conductor remains constant at a particular temperature,
whereas, electrical resistance of a conductor changes with change in length or
area of cross section of the conductor. 1

R=10Q p=1.6x10°Qm A=20x10"cm?
=20x10°m?

(
=Pt 1

_10Qx20x10°m?
1.6x10°Qm A
2000
=———m
16

(=125m (answer with correct unit) 1
It prevents damage to the appliance and the circuit due to overloading. VZ:

It is connected in series with the household circuit. b

_ . _ 1000W
220v 220V
= 4.554

The electric current flowing / required by the electric iron is more than the current
that can flow through the fuse without its melting.

Hence, fuse wire will melt, circuit breaks and the electric iron will not work. 2
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23.

24.

Large amount of heat energy is required to break the inter-ionic attractive forces.

A thin but strong layer of aluminium oxide is formed on its surface which protects
aluminium atoms underneaeth.

Solder has a low melting point.

It is easier to extract a metal from its oxide by the process of reduction than from its
sulphide.

Tamarind juice is acidic and neutralizes the basic layer of copper carbonate on

tarnished copper vessels. 1%5
OR
I By heating
Exmple : Hgs + O, —=* > Hg + SO, 1

i By reduction of its oxide with carbon / carbon monoxide

Example: ZnO + C —— Zn + CO 1

ii. By electrolysis of fused compounds of the metal

Exmple : 2NaCl —="%_32Na + Cl,

(molten)
Removal of impurities from the crude metal. V2
Cathode : Pure M VZ:
Anode : Impure (crude) M VZ:
Electrolyte : Awater soluble salt of M. Ve
Fig. 6.14 page 111, NCERT text book, labelling 1,%x4
Help in increasing the surface area for filteration/ help in increasing the surface
area for proper reabsorption of useful substance. 1
Glucose, amino acids, salts, water (any two) YaX2

OR

Fig. 6.9 page 104, NCERT text book 1
Label :
I. Trachea
i Larynx
ii. Diaphragm
V. Pharynx Y2X4

Thin walled (easy diffusion), greater surface area for diffusion, large number, highly
elastic, surrounded by network of blood capillaries. Y2X4
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25,

Pattern 1
Correct Direction 1

Magneticfield pattern inside the solenoid indicates that the magnetic field is same at all
points inside the solenoid. 1

This principle is utilized to magnetise a piece of magnetic material like soft iron when
placed inside the coil. 1

Ways to strengthen this electromagnet :

I Increase the amount of electric current through it VZ:

. Increase the number of turns of coil. VZ:
OR

(1) Activity :

. Take a coil of wire, AB, having a large number of turns and connect it to a

galvanometer.

. Move the north pole of a strong bar magnet towards one end, B, of the coil. The
galvanometer shows a momentary deflection indicating the presence of electric
current in the coil AB.

. When the magnet is withdrawn / taken away from the coil, the galvanometer again
shows momentary deflection in a direction, opposite to the first, indicating that the
current is set up in the opposite direction. 2

Rule:

Fleming's right hand rule : stretch the thumb, forefinger and middle finger of right hand so
that these are perpendicular to each other. If the forefinger indicates the direction of the
magnetic field and the thumb shows the direction of motion of the conductor, then the

middle finger will show the direction of current generated in the coil. 1
il. a) The galvanometer shows a momentary deflection (due to electric current
induced init) 1

b) The galvanometer shows a momentary deflection (due to change in amount
of electric current). 1
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Section 'B'
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